

$$f(x) = r \left[\frac{r-q}{r} \right] + a \left[\frac{r+q}{r} \right] \Rightarrow \lim_{n \rightarrow -r^+} f(n) = \lim_{n \rightarrow -r^-} f(n) \quad (1)$$

$$\Rightarrow r \left[\frac{r - (-r)}{r} \right] + a \left[\frac{(-r) + r}{r} \right] = r - a$$

$$\Rightarrow r - a = r \Rightarrow a = 0$$

$$\Rightarrow r \left[\frac{r - (r^+)}{r} \right] + a \left[\frac{(r^+) + r}{r} \right] = r \Rightarrow \left[\frac{a}{r} \right] = \left[\frac{r}{r} \right] = 1$$

$$\lim_{n \rightarrow (\frac{\pi}{2})^-} [r \sin n - 1] \Rightarrow \sin \frac{\pi}{2} = \frac{1}{r} \Rightarrow \sin \frac{\pi}{2} < \frac{1}{r} \quad (2)$$

$$\Rightarrow [r \sin \frac{\pi}{2} - 1] = -1$$

$$\lim_{n \rightarrow \frac{1}{r}} [\lambda n^{\frac{1}{r}} - q] = \left[\lambda \left(\frac{1}{r} \right)^{\frac{1}{r}} + \frac{1}{r} \right] = \left[1 + \frac{1}{r} \right] = \left[\frac{r+1}{r} \right] = \frac{r+1}{r} \quad (3)$$

$$\lim_{n \rightarrow (\frac{1}{r})^-} [1. n - d + \left[\frac{r}{n} \right]] = \frac{1. n + \frac{1}{r}}{1. n + \frac{1}{r}} = \frac{-d + \frac{1}{r}}{(-\frac{1}{r}) + \frac{1}{r}} = \frac{1}{0} = \infty \quad (4)$$

$$\lim_{n \rightarrow \frac{1}{r}} \frac{\sin^r \pi n}{[n] + \cos \pi n} = \frac{\sin^r \pi n}{1 + \cos \pi n} = \frac{1 - \cos^2 \pi n}{1 + \cos \pi n} = \frac{(1 - \cos \pi n)(1 + \cos \pi n)}{(1 + \cos \pi n)} \quad (5)$$

$$= 1 - \cos \pi n = 1 - \cos \pi = 1 - (-1) = 2$$

$$\lim_{n \rightarrow 1} \frac{\sqrt{n+1} - \sqrt{n-1}}{1 + \sqrt{n}} \xrightarrow{\frac{0}{0}} \frac{\frac{1}{2\sqrt{n}}}{\frac{1}{2\sqrt{n}}} = \frac{1}{1} = 1 \quad (6)$$

$$\lim_{n \rightarrow 1} \frac{p\sqrt{n} - \sqrt{n} + d}{p\sqrt{n} - \sqrt{n} + 1} \times \frac{p}{p} \times \frac{p}{p} \quad (V)$$

$$= \frac{p\sqrt{n} - \sqrt{n} + d}{p\sqrt{n} - \sqrt{n} + 1} \xrightarrow{\text{L'Hôpital}} \frac{(\sqrt{n}-1)(\sqrt{n}-0)}{(n-1)(p\sqrt{n}+1)} \times p$$

$$= \frac{\sqrt{n}-1}{(\sqrt{n}+1)(p\sqrt{n}+1)} \times \frac{p}{p} \times d = \frac{1-p}{1} \times \frac{d}{d} \quad \text{||}$$

$$\lim_{n \rightarrow \infty} \frac{a + \sqrt{b}n + c}{n} = \frac{1}{n} \xrightarrow{\text{L'Hôpital}} \frac{a + \sqrt{c}}{\sqrt{c}} \Rightarrow \sqrt{c} - a \quad (A)$$

$$\text{H.O.P} \Rightarrow \frac{\frac{b}{\sqrt{b}n + c}}{1} = \frac{b}{\sqrt{b}n + c} \xrightarrow{\text{L'Hôpital}} \frac{b}{\sqrt{c}} \times \frac{1}{\sqrt{c}} \Rightarrow \frac{b}{\sqrt{c}} \times \frac{1}{\sqrt{c}} \Rightarrow \sqrt{c} - a \times \frac{b}{\sqrt{c}}$$

$$\Rightarrow \frac{ab}{c} \times \frac{-1}{\sqrt{b}} \times \frac{1}{\sqrt{c}} = \frac{-1}{\sqrt{c}} \quad \text{||}$$

$$\lim_{n \rightarrow -\pi} \frac{f(n) \left[\frac{n}{\pi} \right]}{\sin n} = +\infty \quad (9)$$

$$\Rightarrow \lim_{n \rightarrow -\pi} \frac{f(n) \left[\frac{n}{\pi} \right]}{\sin n} = \frac{f(n) \left[\frac{n}{\pi} \right]}{0^-} \xrightarrow{\text{L'Hôpital}} \frac{f(n) \left[\frac{n}{\pi} \right]}{0^-} \Rightarrow K < \pi$$

$$\Rightarrow -\pi < -K < -\frac{\pi}{\pi} \Rightarrow [-K] = -1 \quad \text{||}$$

$$\Rightarrow \lim_{n \rightarrow -\pi} \frac{f(n) \left[\frac{n}{\pi} \right]}{\sin n} = \frac{f(n) \left[\frac{n}{\pi} \right]}{0^-} \xrightarrow{\text{L'Hôpital}} \frac{f(n) \left[\frac{n}{\pi} \right]}{0^-} \Rightarrow K > \frac{\pi}{\pi}$$

$$\lim_{n \rightarrow \infty} \frac{b\sqrt{r_n} - rb}{an - b} = \frac{rb - rb}{\infty a - b} = \frac{0}{\infty} \rightarrow \text{جواب بی حد}$$

(10)

$$\lim_{n \rightarrow \infty} a_n = b \Rightarrow \lim_{n \rightarrow \infty} a_n = b$$

حقیقتاً اینجا هیچ محدودی نداریم اینجا رو میزنیم

$$\lim_{n \rightarrow \infty} \frac{a\sqrt{r_n} - 15a}{an - 15a} = \frac{a\sqrt{r_n} - 15a}{n - 15} = \frac{0}{0}$$

$$\text{Hd} \Rightarrow \frac{\frac{a\sqrt{r_n}}{r_n(r_n)} = \frac{1}{r_n}}{1} = \frac{1}{r_n}$$